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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I (CtoD) • EXAMINATION – WINTER • 2014 

Subject Code: C300004 Date: 18-12-2014        
Subject Name: Engineering Physics 

Time: 03:00 pm - 04:30 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 
2. Make suitable assumption wherever necessary. 
3. Each question is of 1 mark. 
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed) 
5. English version is authentic. 

No. Question Text and Option 

1. Force is acting on 1 kg object and due it there is change in velocity 0.4 ms-1 per sec. 
Force will be ________. 

 A. 0.2 N B. 0.3 N 
 C. 0.1 N D. 0.4 N 
2. Unit of momentum is ________. 

 A. Kg * m / sec B. Kg * m * sec 
 C. Kg * m D. M * sec 

3. 
Give the unit of pressure. 
A. N * m2 B. N * m 
C. N/ m2 D. N2 * m 

4. 
1 A0 = ________ cm. 
A. 10-8 B. 10-10 
C. 10-12 D. 10-6 

5. 
Give no of significant digits in 0.004 ________. 
A. Two B. Three 
C. One D. Four 

6. 

Pitch of Micrometer is 0.5 mm and there are 50 divisions on its circular scale. Least 
count of Micrometer is ________. 
A. 0.01 mm B. 0.01 cm 
C. 0.001 mm D. 0.0001 mm 

7. 
Unit of temperature in SI is ________. 
A. Celsius B. Kevin 
C. Fahrenheit D. None of these 

8. 

50 divisions of vernier scale are equal to 49 divisions on main scale. Main scale is in 
mm least count ________. 
A. 0.02 mm B. 0.01 mm 
C. 0.002 mm D. 0.001 mm 

9. 

Percentage error in measurement of volume of sphere is 12 % then percentage error in 
its surface area will be ________ 
A. 4 B. 6 
C. 8 D. 10 

10. 

Resistances R1= 200 + 3 ohm and R2 = 300 + 2 ohm are connected in series. 
Percentage error in this combination will be ________. 
A. 1 B. 2 
C. 3 D. 4 

11. 
100 Newton = ________ Dyne. 
A. 10-3 B. 10-5 
C. 103 D. 107 
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12. 
Watt is a unit of ________. 
A. Work B. Energy 
C. Momentum D. Power 

13. 

F= G m1m2 / r2. Where F is Force, m1 and m2 are masses, r is distance then unit of G is 
________. 
A. N * m2 / kg2 B. N * kg2 / m2 
C. N * m D. N * kg 

14. 

Linear momentum of object changes at the rate of 12 kg ms-1. Per sec. Force acting on 
it ________. 
A. 10 N B. 8 N 
C. 12 N D. None of these 

15. 
1 Cal = ________ Joule. 
A. 1.486 B. 8.614 
C. 100 D. 4.186 

16. 

If 150 gm substance is heated to increase its temperature from 200C to 250C & required 
heat is 82.5 cal. Specific heat of substance is ________ Cal/ g0C 
A. 0.9 B. 0.20 
C. 0.11 D. 0.31 

17. 
Unit of Impulse of Force is equal to unit of ________. 
A. Pressure B. Momentum 
C. Force D. Work 

18. 
On which factor frictional force does not depend? 
A. Mass B. Type of surface 
C. Area D. None of these 

19. 
Velocity of car is 72 km/hr & its momentum is 20,000 kg.m/s mass of car ________. 
A. 500 kg B. 400 kg 
C. 800 kg D. 1000 kg 

20. 

50 N force is acting on stationary object having mass 10 kg. Distance covered by it in 
2 sec is ________. 
A. 5m B. 10m 
C. 15m D. 20m 

21. 
1010F = ________. 0C 
A. 32.33 0C  B. 38.330C 
C. 38.20 0C D. None of these 

22. 
Unit of heat capacity is ________. 
A. Cal / 0C B. Cal 
C. 0C / Cal D. Kelvin 

23 
Newton’s first law gives the definition of ________. 
A. Force B. Acceleration 
C. Inertia D. Velocity 

24. 
V2 – Vo

2 = ________ V is final velocity, Vo is initial velocity. 
A. 2a B. 2am 
C. 2ad D. 2g 

25. 
Temperature of boiling water is ________ 0F. 
A. 100 B. 373 
C. 212 D. 273 

26. 

If heat capacity of silver coin is 1.128 cal/g0C. sp. heat is 0.0564 cal g-10c. Mass of coin 
is ________.  
A. 20 gm B. 10 gm 
C. 30 gm D. 40 gm 

27. Which of the following metal is having more thermal conductivity ________. 
A. Silver B. Copper 
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C. Aluminium D. Silicon 

28. 

Energy emitted by black body is proportional to ________. Where T is absolute 
temperature. 
A. T2 B. T3 
C. T D. T4 

29. 

In a steady state of temperature. Temperature difference of two ends of meter scale are 
300 and 200C. Temperature at a distance of 60 cm from cold end will be ________0C  
A. 4 B. 6 
C. 8 D. 10 

30. 
SI unit of young’s modulus is ________. 
A. N/m B. N * m 
C. N/m2 D. N * m2 

31. 
Force(F)= ------ ˣ Acceleration 
A. Velocity B. Mass 
C. Pressure D. Work 

32. 

A car of mass 300kg moving in North direction with velocity of 3 m/s then the 
momentum of the car is---------kgms-1 

A. 9000 B. 9 
C. 900 D. 270 

 

33. 
Force ×Time=--------- 
A. Impulse force B. Velocity 
C. Mass D. Speed 

34. 
Velocity is a-------- 
A. Vector quantity B. Scalar quantity 
C. Both D. None of above 

35. 
S.I. unit of Momentum is -------- 
A. Kgms-1 B. Kgms2 
C. kgm D. Newton 

36. 
CGS unit of surface tension is ________. 
A. Dyne*cm B. Dyne/cm 
C. Dyne/cm2 D. Dyne*cm2 

37. 

A thin film of soap is created on frame of wire. Length of film extended to 3 cm and 
breadth of it is extended to 2 cm ________ is work done on film. 
A. 168 erg B. 336 erg 
C. 16.8 erg D. 33.6 erg 

38. 
Poise is the CGS unit of ________. 
A. Surface tension B. Pressure 
C. Viscosity D. Stress 

39. 

Inter molecular force of attraction between the molecules of glass and molecules of 
water is known as ________ force.   
A. Cohesive B. Adhesive 
C. Viscous D. None of these 

40. 

If the length of the wire and mass suspended are doubled in a young’s modulus 
experiment then, young’s modulus of the wire will be ________.  
A. Remains unchanged B. Becomes double 
C. Becomes four times D. Becomes sixteen 

41. 

Length of a wire is 5 cm, force applied on it is 8 N, change in length of it 0.2 cm. 
________ is the strain produced in wire. 
A. 0.04 B. 0.4 
C. 10 D. 1 

42. 
As temperature increases, coefficient of viscosity of liquid ________. 
A. Increases B. Remains an changed 
C. Decreases D. None of these 
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43. 
If angle of contact θ < 900 for the liquid then miniscus of liquid is ________. 
A. Convex B. Concave 
C. Plane D. None of these 

44. 

Radius of the tube is 0.5 cm , Reynold number is 100, coefficient of viscosity of water 
is 0.1 CGS unit and density of water is 1 gm/cm3 ________ cm/s is the velocity of 
water. 
A. 1000 B. 374 
C. 10 D. 1 

45. 
The acceleration in a body due to 
A. Unbalanced force B. Balanced force 
C. Mass D. Electrostatic force 

46. 
The physical quantity, which is equal to change in momentum, is 
A. Force B. Impulse 
C. Acceleration D. Velocity               

47. 
The product of mass and velocity is known as 
A. Acceleration B. Force 
C. Velocity               D. Momentum    

48. 
Momentum of a massive object at rest is 
A. Very large B. Very less 
C. Zero D. None of these 

49. 
Unit of heat energy 
A. Kelvin B. Temperature 
C. Kilogram D. Joule 

50. 
Bodies transmitting heat via radiation 
A. Do not required any medium B. Need only liquid medium 
C. Need only solid medium D. Need only gaseous medium 

51. 
β- Particles are ________. 
A. Proton B. Neutron 
C. Helium particle D. Electron  

52. 
Penetration power of β- Particles is ________ times more than α- particles. 
A. 10,000 B. 100 
C. 10 D. 1 

53. 
92U238 → A + α- particle. Replace the A from following. 
A. 90Th234 B. 91Pa238 
C. 92Th238 D. 92U234 

54. 
For Nanomaterial surface to volume ratio is ________. 
A. Large  B. Very small 
C. General D. None of these 

55. 
1  Nanometer = ________ m 
A. 10-8 B. 10-7 
C. 10-10 D. 10-9 

56. 
Focal length of Plane mirror is ________. 
A. Infinite B. Zero 
C. Equal to object distance  D. Not fix 

57. 

Velocity of light in air is 3 X 108 m/s and velocity of light in liquid is 1.75 X 108 m/s. 
Refractive index of liquid is ________.  
A. 1.21 B. 1.71 
C. 1.41 D. 1.00 

58. 
Which phenomenon is taking place in optical fibre ________. 
A. Dispersion of light B. Polarisation of light 
C. Refraction of light D. Internal reflection of light 

59. 
During dispersion of light through prism which colour deviates the most ________. 
A. Violet B. Blue 
C. Green D. Red 
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60. 

Refractive index of diamond with respect to glass is 1.62 and absolute refractive index 
of glass is 1.5. Absolute refractive index of diamond is ________. 
A. 1.62 B. 2.43 
C. 1.43 D. 1.00 

61. 
Intensity of light is proportional to ________. Where A is Amplitude 
A. A2 B. A 
C. A3 D. A4 

62. 
Diffraction depend on ________.  (Where λ is wavelength and d is width) 
A. λ /2d B. 2λ/d 
C. λ/d D. D 

63. 
Unit of frequency is ________. 
A. Cycles/sec B. Sec-1 
C. Hertz D. All a,b and c 

64. 
Ultrasonic waves having frequency more than ________ Hz 
A. 20 B. 200 
C. 2000 D. 20,000 

65. 
Sound propagates in a medium due to ________ and ________. 
A. Crest B. Trough 
C. Condensation D. Rarefaction 

66. 
Frequency of infrasonic waves are --------- 
A. Less then 20 Hz B. 20 Hz 
C. More then 20 Hz D. 20 KHz 

67. 
Pitch of sound is measure by --------- 
A. Pressure  B. Velocity  
C. Amplitude  D. Frequency  

68. 
Unit of stress is-------- 
A. Newton  B. Pascal  
C. Dyne  D. Joule  

69. 
Surface tension tends to-------surface area of the liquid.  
A. Increase  B. Decrease  
C. Both  D. Constant  

70. 
The angle of contact for water is--------- 

A. 0 B. 90 
C. 100 D. 180  

 
************** 
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�જુરાતી 

ન.ં પ્ તેમજ િવકલ્ 

1. 

1 lSU’F GF 5NFY” 5Z A/ ,UF0TF\ T[GF J[UDF\ NZ ;[Sg0[ 0.4 DL8Zq;[Sg0DF\ O[ZOFZ YFI K[4 TM ,FUT]\ A/ 
___________ YFIP 
A.  0.2 gI]8G B. 0.3 gI]8G 
C. 0.4 gI]8G D.  0.4 gI]8G 

2. 
J[UDFG GM V[SD ___________ K[P 
A.  lSU'FP DL8Zq;[Sg0 B. lSU'FP DL8ZP;[Sg0 
C. lSU'FP DL8Z D.  DL8ZP;[Sg0 

3. 
NAF6 GM V[SD VF5MP 
A.  gI]8G DL8Z2  B. gI]8GP DL8Z 
C. gI]8Gq DL8Z2 D.  gI]8G2P DL8Z 

4. 
1Å = ___________ ;[DLP 
A.  10-8 B. 10-10 
C. 10-12 D.  10-6 

5. 
0.004 DF\ ___________ ;FY”S V\SM K[P 
A.  2 B. 3 
C. 1 D.  4 

6. 

DF.S|MDL8Z :S]GL 5[R 0.5 lDDL K[ VG[ T[GF JT}”/FSFZ :S[, 5Z S], 50 SF5F K[P TM DF.S|MDL8Z :S]GL ,W]TD DF5 
XlST ___________ K[P 
A.  0.01 lDDL B. 0.01 ;[DL 
C. 0.001lDDL D.  0.0001lDDL 

7. 
V[; VF. V[SD 5âlTDF\ TF5DFG GM V[SD ___________ K[P 
A.  ;[<;LI; B. S[<JLG  
C. O[ZGCL8 D.  VFDF\YL V[S 56 GCL 

8. 

JlG”IZ :S[, GF 50 SF5F4 D}bI :S[,GF 49 SF5F ;FY[ D[R YFI K[ D}bI :S[, lDDL DF\ VF5[,\] K[P TM T[GL ,PDFPXP 
=___________ P 
A.  0.02 lDDL B. 0.01 lDDL 
C. 0.002 lDDL D.  0.001 lDDL 

9. 

V[S UM/F GF SN GF DFIGDF\ 5|lTXT +]8L 12 @ K[4 TM T[GL ;5F8LGF 1F[+O/DF\ 5|lTXT +]8L ___________ 
YX[P 
A.  4 B. 6 
C. 8 D.  10 

10. 

VJZMWM R1 = 200 ± 3 VMCD VG[ R2 = 300 ± 2 VMCD G[ z[6L DF\ HM0[,F K[P TM VF HM0F6 DF\ 5|lTXT 
+]8L___________ @ YFIP 
A.  1 B. 2 
C. 3 D.  4 

11. 
100 gI]8G ___________ 0F>GP 
A.  10-3 B. 10-5 
C. 103 D.  107 

12. 
JM8 V[___________ GM V[SD K[ 
A.  SFI” B. pHF" 
C. J[UDFG D.  SFI”tJZF 

13. 

F=G.M1.M2/r2 HIF\ F V[ A/ K[P m1 VG[ m2 V[ N/ K[ r V[ V\TZ K[ TM G GM V[SD ___________ 
YFIP 
A.  gI]8GPDL8Z2qlSU’F2 B. gI]8GPlSU’F2qDL8Z2 
C. gI]8GP DL8Z D.  gI]8GPlSU’F 

14. 

V[S 5NFY”G\] Z[BLI J[UDFG NZ ;[Sg0[ 12 lSU’FPDL;[-1 GF NZ[ AN,FI K[4 TM T[GF 5Z ,FUT\] A/ ___________ 
YX[P 
A.  10 gI]8G B. 8 gI]8G 
C. 12 gI]8G D.  VFDF\YL V[S 56 GCL 



Final 

15. 
1 S[,ZL =___________ H], 
A.  1.486 B. 8.614 
C. 100 D.  4.186 

16. 

HM 150 U|FD N/ WZFJTF 5NFY”G[4 T[G\] TF5DFG 200 ;[<;LI;YL 250 ;[<;LI; ;]WL JWFZJ\] K[ TM 82.5 S[,ZL 
pQDF pHF"GL H~Z 50[ TM 5NFY”GL lJXLQ8 pQDF___________ S[,ZLqU|FD0 ;[<;LI; YFI 
A.  0.9 B. 0.20 
C. 0.11 D.  0.31 

17. 
A/GF VF3FT GM V[SD ___________ GM V[SD K[P 
A.  NAF6 B. J[UDFG 
C. A/ D.  SFI” 

18. 
WQF”6 A/V[ SIF 5lZA/ 5Z VFWFZ ZFBTM GYLm 
A.  N/ B. ;5F8L GF 5|SFZ 
C. 1F[+O/ D.  VFDF\YL V[S 56 GCL 

19. 
V[S SFZ GM J[U 72 lSDLqS,FS K[4 T[G\] J[UDFG 20000 lSDLq;[Sg0 K[ TM SFZ G\] N/ ___________ YFIP 
A.  500 lSU’F B. 400 lSU’F 
C. 800 lSU’F D.  1000 lSU’F 

20. 
10 lSU’F N/ WZFJTF l:YZ 5NFY”5Z 50 gI]8G A/ ,FU[ K[P TM T[ Z;[Sg0DF\  ___________ V\TZ SF5X[P 
A.  5 DL8Z B. 10 DL8Z 
C. 15 DL8Z D.  20 DL8Z 

21. 
1010 O[ZGCL8   =___________0 ;[<;LI; 
A.  32.330 ;[ B. 38.330 ;[ 
C. 38.200 ;[ D.  VFDF\YL V[S 56 GCL 

22. 
pQDFWFlZTF GM V[SD  ___________ K[P 
A.  S[,ZLq0 ;[<;LI; B. S[,ZL 
C. 0 ;[<;LI;qS[,ZL D.  S[<JLG 

23. 
gI]8G GM 5|YD lGID ___________ GL jIFbIF VF5[ K[P 
A.  A/ B. 5|J[U 
C. H0tJ D.  J[U 

24. 
V2 – Vo2 = ___________ HIF\ V = V\lTDJ[uF4 Vo = 5|FZ\lES J[UP 
A.  2a B. 2am 
C. 2ad D.  2g 

25. 
pS/TF 5F6LG\] TF5DFG___________0 O[ZGCL8 YFI 
A.  100 B. 373 
C. 212 D.  273 

26. 

HM RF\NLGF l;SSF GL pQDFWFlZTF 1.128 S[,ZLq0 ;[<;LI; K[4 lJXLQ8 pQDF\ 0.0564 S[,ZLqU|FD  0C TM l;SSFG\]  
JHG ___________ K[P     
A.  20 U|FD B. 10 U|FD 
C. 30 U|FD D.  40 U|FD 

27. 
GLR[GFDF\YL S. WFT]GL pQDFJFCSTF JW] K[P 
A.  RF\NL B. TFA\]  
C. V[<I]lDlGID D.  l;,LSMG 

28. 
SF/F 5NFY” äFZF pt;Ò”T pHF" V[___________ GF ;D5||DF6DF\ K[P sHIF\ T V[ lGZ51F TF5DFG K[[Pf 
A.  T2 B. T3 
C. T D.  T4 

29. 

TF5DFG GL :YFIL l:YlTDF\ DL8Z :S[, GF A[ K[0F GM TF5DFG TOFJT 300;[ VG[ 200 ;[ K[P 9\0F K[0[ YL 60 ;[DL 
V\TZ[ TF5DFG ___________0 ;[ YFI K[P 
A.  4 B. 6 
C. 8 D.  10 

30. 
I\U DM0I],; GM S1 V[SD ___________ K[P 
A.  gI]8GqDL8Z B. gI]8GPDL8Z 
C. gI]8GqDL8Z2 D.  gI]8GPDL8Z2 

31. બળ (F)=_____ ×પ્રવે 
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A.  વેગ  B. દળ  

C. દબાણ  D.  કાયર્ 

32. 

300 �ક.ગ્. ની એક કાર 3 મી/સે.ના વેગથી ઉતર �દશામા દોડ� છે તોતે� ુવેગમાન ___kgms-1  

A.  9000 B. 9 

C. 900 D.  270 

33. 

બળ×સમય =______  

A.  બળનો આઘાત  B. વેગ  

C. દળ  D.  ઝડપ  

34. 

વેગ એ _____ છે  

A.  સ�દશ રાશી  B. અ�દશ રાશી  

C. બનેં  D.  એક પણ નહ�  

35. 
વેગમાનનો એસ.આઇ.એકમ _______છે . 
A. Kgms-1 B. Kgms2 
C. kgm D. Newton 

36. 
5’Q9TF6 GM CGS V[SD ___________ K[P 
A.  0F.GP;[DL B. 0F.Gq;[DL 
C. 0F.Gq;[DL2 D.  0F.GP;[DL2 

37. 

V[S TFZ 5Z ;FA]GF N=FJ6GL 5FT/L lO<D AGFJJFDF\ VFJ[ K[P lO<DGL ,\AF. 3 ;[DL VG[ 5CM/F. 2 ;[DL 
JWFZJFDF\ VFJ[ K[ TM lO<D 5Z SZJFDF\ VFJ[,]\ SFI” ___________ YFIP 
A.  168 VU” B. 336 VU” 
C. 16.8 VU” D.  33.6 VU” 

38. 
5M.h V[ ___________ EF{lTS ZFlXG\] CGS V[SD K[P 
A.  5’Q9TF6 B. NAF6 
C. xIFGTF  D.  5|lTA/ 

39. 

SFRGF V6]VM VG[ 5F6L GF V6]VM JrR[ ,FUTF V\TZ VFl^JI VFSQF”6 A/ G[___________ A/ TZLS[ 
VM/BJFDF\ VFJ[ K[P 
A.  ;\XlST B. VF;lST 
C. xIFGTF  D.  VFDF\YL V[S 56 GCL 

40. 

I\U DM0I],; GF 5|IMUDF\ TFZGL ,\AF. VG[ ,8SFJ[, JHG HM AD6] SZJFDF\ VFJ[ TM4 TFZ GF I\UDM0I],; 
DF\___________ YFIP 
A.  O[ZOFZ YFI GCL\ B. AD6\] YFI 
C. RFZ U6] YFI D.  ;M/U6\] YFI 

41. 

HM TFZGL ,\AF. 5 ;[DL CMI4 T[GF 5Z ,FUT\] A/ 8 gI]8G YFI VG[ T[GL ,\AF. DF\ YTM O[ZOFZ 0.2 ;[DL CMI TM 
TFZDF\ ___________ lJS’lT 5[NF YX[P 
A.  0.04 B. 0.4 
C. 10 D.  1 

42. 
H[DF TF5DFG JW[4 5|JFCL GM xIFGGF U}6F\S ___________  
A.  JW[ B. O[ZOFZ YFI GCL 
C. W8[ D.  VFDF\YL V[S 56 GCL 

43. 
HM SM. 5|JFCL DF8[ ;\5S” SM6 ϴ<800 CMI TM T[ 5|JFCL G\] lDGL:SD  ___________ YX[P 
A.  V\TUM/ B. AlCUM/ 
C. ;DT, D.  VFDF\YL V[S 56 GCL 

44. 

V[S G/LGL l+HIF 0.5 ;[DL4 Z[GM<0 G\AZ 100 K[4 5F6LG\] xIFIGTF U]6\FS 0.1 CGS V[SD VG[ 5F6L GL WGTF  
V[S U|FDq;[DL3 CMI TM 5F6L GM J[U ___________;[DLq;[Sg0 YFIP 
A.  1000 B. 100 
C. 10 D.  1 

45. પદાથર્માં પ્રવેગ ઉત્ત્પ� થ 
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A. અસ�ંલુીત બળોને લીધે B. સ�ંલુીત બળોને લીધે 

C. દળ D. �સ્થત િવ �ૂત બળ ને લીધ 
 

46. 

વેગમાન મા ંથતો ફ�રફારો એ કઈ ભૌિતક રાશી ને સમ�લુ્ય છે 
A. બળ B. આધાત 

C. પ્રવ D. વેગ 

47. 

દળ અને વેગ ના �ણુાકર ને કહ� છે 

A. પ્રવ B. બળ 

C. વેગ D. વેગમાન 

48. 

�સ્થર અવસ્થામાં  ભાર� પદાથર્�ુ વેગ 

A. ઘ� ુવધાર� હોય છે  B. ઘ� ુઓ� હોય છે 
C. �નૂ્ D. ઉપરનામાથંી એક પણ નહ� 

49. 

ઉષ્મા ઉ�ર્નો એકમ  
A. ક�લ્વી B. તાપમાન 
C. �કલોગ્ર D. �ુલ 

50. 

પદાથર્ના �કરણોત્સગ� �પે થતા ઉષ્મા પ્રસરણ 
A. માધ્યમની જ�ર નથ B. ફક્ત પ્રવાહ� માધ્યમની જ� 
C. ફક્ત ઘન  માધ્યમની જ�ર  D. ફક્ત વા�ુ માધ્યમની જ�ર  

51. 
AL8F S6M  ___________K[P 
A.  5|M8MG B. gI}8=MG 
C. lC,LID GF S6M D.  >,[S8=MG 

52. 
VF<OF S6M SZTF\ AL8F S6MGL E[NG XlST  ___________U6L JWFZ[ K[P 
A.  10000 B. 100 
C. 10 D.  1 

53. 
92∪238  → A +α sS6f TM A G[ :YFG[ GLR[GFDF\YL SI\] TtJ VFJX[m 
A.  90Th234 B. a1Pa238 
C. 92Th238 D.  92∪234 

54. 
G[GM S6 DF8[ ;5F8LGF 1F[+O/ VG[ T[GF SNGM U}6MTZ___________CMJM HM.V[P  
A.  JWFZ[  B. B}A H VMKM 
C. ;FDFgI D.  VFDF\YL V[S 56 GCL 

55. 
1 G[ GMDL8Z =___________m  
A.  10-8 B. 10-7 
C. 10-10 D.  10-9 

56. 
;FNF VZL;FGL S[gN= ,\AF. ___________K[P 
A.  VG\T B. X}gI 
C. J:T] V\TZ H[8,L D.  VlGl`RT 

57. 

5|SFXGM CJFDF\ J[U 3x108m/s K[ VG[ SM. 5|JFCLDF\ T[GM J[U 1.75x108 m/s K[P TM VF 5|JFCLGM JS=LEJGF\S 
___________K[P 
A.  1.21 B. 1.71 
C. 1.41 D.  1.00 

58. 
VM%8LS, OF.AZDF\ GLR[GL 5{SL S. 38GF YFI K[P___________ 
A.  5|SFXG\] lJEFHG B. 5|SFXG\] 3|]JLEJG 
C. 5|SFXG\] JS=LEJG D.  5|SFXG\] VF\TZLS 5ZFJT”G 

59. l5|hDDF\ YTL 5|SFXGL lJEFHGGL 38GFDF\ SIF Z\UG\] JWFZ[ lJR,G YFI K[P___________ 
A.  HFA\,L  B. a<I] 



Final 
C. ,L,M D.  ZFTM 

60. 

CLZFGM SFRGL ;F5[1F[ JS=LEJGF\S 1.62 K[ VG[ SFRGM lGZ5[1F JS=LEJGF\S 1.5 K[ CLZFGM lGZ5[1F 
JS=LEJGF\S___________ 
A.  1.62 B. 2.43 
C. 1.43 D.  1.00 

61. 
5|SFXGL TLJ|TF ___________CMI K[ HIF\ A S\5lJ:TFZ K[P 
A.  A2  B. A 
C. A3 D.  A4 

62. 
lJJT”G GM VFWFZ ___________5Z ZC[,M K[P 
A.  λ/2d B. 2λ/d 
C. λ/d D.  d 

63. 
VFJ’lTGM V[SD ___________K[P 
A.  5lZE|D6q;[S\0 B. ;[S\0 
C. C8”h D.  VF AWFH 

64. 
V<8=M;MlGS TZ\UMGL VFJ’lT ___________JWFZ[ CMI K[P 
A.  20 B. 200 
C. 2000 D.  20000 

65. 
wJlG TZ\UMG\] DFwIDDF\ 5|;Z6 ___________VG[___________äFZF YFI K[P 
A.  X’\U B. UT” 
C. ;\WGG D.  lJWGG 

66. 

�ફ્રાસોનીકતરંગની આ�ુ________   

A.  20 હટર્ઝ કરતા ઓછ� B. 20 હટર્ 

C. 20 હટર્ઝ કરતા વધાર D.  20ક�લો હટર્ 

67. 

ધ્વિન ની શાપર્નેસ  એ તેન________ થી મપાય છે . 

A.  દબાણ  B. વેગ 

C. કંપિવસ્તાર D.  આ�તુી  

68. 

પ્રિતબળ નો એક_______ છે.  

A.  ન્�ુટન B. પાસ્કલ 

C. ડાઇન  D.  �ુલ  

69. 

�ષુ્ઠતાણ  પ્રવાહ� ની �ુક્ત સપાટ�નો ક્ષે________ કરવા પ્રયત્ન કર� . 

A.  વધારો B. ઘટાડો  

C. બનેં  D.  અચળ  

70. 

પાણી ના સ્પશર્ કોણ �ુ �ુલ્_______ છે. 

A.  00 B. 900 

C. 1000 D.  1800  
 

************** 
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